Fill in the missing numbers.

Amir says, How many different possibilities can you

find for each equation?

28 . 37
Sis less than T
because 28 is less than
37

Do you agree?
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Explain why.
Compare the number of possibilities you
found.
Fill in the missing numbers.
Amir says, How many different possibilities can you
find for each equation?
28 . 37
S islessthan — D D
because 28 is less than 2—=—
37 8 8
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Do you agree? 2 =
Explain why. 5 5

Compare the number of possibilities you
found.

Fill in the missing numbers.

How many different possibilities can you

Amir says, find for each equation?

28 , l th 37
= is less than — 2
because 28 is less than
37

Do you agree?

Explain why.
Compare the number of possibilities you
found.
Fill in the missing numbers.
Amir says, How many different possibilities can you

find for each equation?

28
= is less than 35—7 D D
because 28 is less than 22— =—
37
- 8 8
Do you agree? 2 —_——= —
Explain why. 5 5

Compare the number of possibilities you
found.

Fill in the missing numbers.

Amir says, How many different possibilities can you
find for each equation?

? is less than 35—7 D
2 —
8

because 28 is less than
37
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Do you agree? 2 5 -
Explain why.
Compare the number of possibilities you
found.
Fill in the missing numbers.
Amir says,

How many different possibilities can you
find for each equation?

23—8 is less than 35—7
because 28 is less than 2
37

Do you agree? 2
Explain why.

Compare the number of possibilities you
found.

Fill in the missing numbers.
Amir says,
yS, How many different possibilities can you
find for each equation?

28 . 37
Sis less than T

because 28 is less than 2
327

Do you agree? 2
Explain why.

Compare the number of possibilities you
found.

Fill in the missing numbers.

Amir says, How many different possibilities can you
find for each equation?

2—: is less than35—7 D D
because 28 is less than 2 _—=—
37 8 8
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Do you agree? 2 —_ =
Explain why. 5 5

Compare the number of possibilities you
found.



